EXERCISE 11-14 (15-20 minutes)

	(a)
	Equipment

	576,765*
	

	
	Discount on Notes Payable

	223,235
	

	
	
Notes Payable

	
	800,000

	
	*PV of $160,000 annuity @ 12% for 5 
	
	

	
	years: ($160,000 X 3.60478) = $576,765
	
	

	
	
	
	

	(b)
	Interest Expense

	69,212*
	

	
	Notes Payable

	160,000
	

	
	
Discount on Notes Payable

	
	69,212

	
	
Cash

	
	160,000

	
	*(12% X $576,765)
	
	


	Year
	
	Note Payment
	
	12% Interest
	
	Reduction of Principal
	
	Balance

	1/2/02
	
	
	
	
	
	
	
	$576,765

	12/31/02
	
	$160,000
	
	$69,212
	
	$  90,788
	
	  485,977

	12/31/03
	
	  160,000
	
	  58,317
	
	  101,683
	
	  384,294


	(c)
	Interest Expense

	58,317
	

	
	Notes Payable

	160,000
	

	
	
Discount on Notes Payable

	
	58,317

	
	
Cash

	
	160,000

	
	
	
	

	(d)
	Amortization Expense

	57,677*
	

	
	
Accumulated Amortization

	
	57,677

	
	*($576,765 ( 10)
	
	


EXERCISE 11-18 (20-25 minutes)

	(a)
	Assets Are Considered Similar in Nature:
	
	

	
	Amortization Expense

	700
	

	
	
Accumulated Amortization - Melter

	
	700

	
	
($11,200 – $700 = $10,500;
	
	

	
	
$10,500 ( 5 = $2,100;
	
	

	
	
$2,100 X 4/12 = $700)
	
	

	
	
	
	

	
	Melter (New)

	15,200**
	

	
	Accumulated Amortization—Melter

	7,000
	

	
	
Gain on Disposal of Plant Assets

	
	1,000*

	
	
Melter (Old)

	
	11,200

	
	
Cash

	
	10,000


	 *Cost of old asset
	$11,200
	

	  Accum. amort. ($6,300 + $700)
	  (7,000)
	

	  Book value
	4,200
	

	  Fair market value of old asset
	   (5,200)
	

	  Gain (on disposal of plant asset)
	$  1,000
	

	
	
	

	**Cash paid
	$10,000
	

	   FMV of old melter
	   5,200
	

	  Cost of new melter
	$15,200
	


Gain is not deferred because boot is more than 10% of the transaction which makes the entire transaction monetary in nature.

EXERCISE 11-18 (Continued)

	(b)
	Assets Are Considered Dissimilar in Nature:
	
	

	
	Amortization Expense

	700
	

	
	
Accumulated Amortization – 


Melter

	
	700

	
	
	
	

	
	Melter (New)

	15,200**
	

	
	Accumulated Amortization—Melter

	7,000
	

	
	
Gain on Disposal of Plant 


Assets

	
	1,000

	
	
Melter (Old)

	
	11,200

	
	
Cash

	
	10,000

	**Cash paid
	$10,000
	

	   FMV of old asset
	   5,200
	

	  Cost of new asset
	$15,200
	


Note that the entries are the same for both (1) and (2).

EXERCISE 11-21 (20-25 minutes)

(a) Any addition to plant assets is capitalized because a new asset has been created. This addition increases the service potential of the plant.

(b) Expenditures that do not increase the service benefits of the asset are expensed. Painting costs are considered ordinary repairs because they maintain the existing condition of the asset or restore it to normal operating efficiency.

(c) The approach to follow is to remove the old book value of the roof and substitute the cost of the new roof. It is assumed that the expenditure increases the future service potential of the asset.

(d) Conceptually, the book value of the old electrical system should be removed. However, practically it is often difficult if not impossible to determine this amount. In this case, one of two approaches is followed. One approach is to capitalize the replacement on the theory that sufficient amortization was taken on the old system to reduce the carrying amount to almost zero. A second approach is to debit accumulated amortization on the theory that the replacement extends the useful life of the asset and thereby recaptures some or all of the past amortization. In our present situation, the problem specifically states that the useful life is not extended and therefore debiting Accumulated Amortization is inappropriate. Thus, this expenditure should be added to the cost of the plant facility.

(e) See discussion in (d) above. In this case, because the useful life of the asset has increased, a debit to Accumulated Amortization would appear to be the most appropriate.

	
	PROBLEM 11-4
	


The following accounting treatment appears appropriate for these items:

Land—The loss on the condemnation of the land of $9,000 ($40,000 – $31,000) should be reported as an extraordinary item on the income statement. If condemnations are either usual or recurring, then an ordinary or unusual classification is more appropriate. The $35,000 land purchase has no income statement effect.

Building—There is no recognized gain or loss on the demolition of the building. The entire purchase cost ($15,000), decreased by the demolition proceeds ($3,600), is allocated to land.

Warehouse—The gain on the destruction of the warehouse should be reported as an extraordinary item, assuming that it is unusual and infrequent. The gain is calculated as follows:

	
Insurance proceeds
	
	$74,000

	
Deduct: Cost
	$70,000
	

	
      Less accumulated amortization
	  11,000
	  59,000

	
Realized gain
	
	$15,000


Some contend that a portion of this gain should be deferred because the proceeds are reinvested in similar assets. We do not believe such an approach should be permitted. Deferral of the gain in this situation is not permitted under GAAP.

Machine—The recognized gain on the transaction would be calculated as follows:

	
Fair market value of old machine
	
	$  7,200

	
Deduct: Cost
	$  8,000
	

	
      Less accumulated amortization
	  (3,200)
	    4,800

	
Total gain
	
	$  2,400


PROBLEM 11-4 (Continued)

This gain would probably be reported in other revenues and gains. It might be reported as an unusual item if the company believes that such a situation occurs infrequently. The cost of the new machine would be capitalized at $6,300.

Furniture—The contribution of the furniture would be reported as a contribution expense of $3,100 with a related gain on disposition of furniture of $950: $3,100 – ($10,000 – $7,850). The contribution expense and the related gain may be netted, if desired.

Automobile—The loss on sale of the automobile of $1,580: [$2,960 – ($8,000 – $3,460)] should probably be reported in the other expenses or losses section. It might be reported as an unusual item if the company believes that such a situation occurs infrequently.

	
	*PROBLEM 11-6
	


	(a) 



 Balance in the Land Account

	Purchase Price
	$142,000

	Surveying Costs
	2,000

	Title Transfer Fees
	4,000

	Demolition Costs
	3,000

	Salvage
	    (1,000)

	
Total Land Cost
	$150,000


Calculations for Buildings – Interest Capitalization:

Weighted Average Expenditures for 2002

	
Date
	
	
Amount
	
	
Fraction
	
	Weighted Expenditures

	1-Dec
	
	150,000
	
	1/12
	
	  12,500

	1-Dec
	
	  30,000
	
	1/12
	
	    2,500

	1-Dec
	
	    3,000
	
	1/12
	
	       250

	
	
	183,000
	
	
	
	$15,250


Weighted Average Borrowings for 2002

	
Date
	
	
Amount
	
	
Fraction
	
	Weighted Expenditure
	
	Interest Rate
	
	Amount Capita-lizable

	1-Dec
	
	600,000
	
	1/12
	
	50,000
	
	
	
	

	
	
	But Limited To
	 15,250
	
	0.08
	
	1,220

	
	
	
	
	
	
	
	
	
	
	

	
	
	Interest taken to Interest Expense
	
	2,780

	
	
	($600,000 X 8% X 1/12 = $4,000 

less interest capitalized of 1,220)
	
	


*PROBLEM 11-6 (Continued)

Weighted Average Expenditures for 2003

	
Date
	
	
Amount
	
	
Fraction
	
	Weighted Expenditure

	1-Jan
	
	183,000
	
	  1/2
	
	91,500

	1-Jan
	
	    1,220
	
	  1/2
	
	     610

	1-Mar
	
	240,000
	
	  1/3
	
	80,000

	1-May
	
	360,000
	
	  1/6
	
	60,000

	1-Jul
	
	  60,000
	
	0/12
	
	         0

	
	
	844,220
	
	
	
	232,110


Weighted Average Borrowings for 2003

	
Date
	
	
Amount
	
	
Fraction
	
	Weighted Expen-diture
	
	Interest Rate
	
	Amount Capita-lizable

	1-Jan
	
	600,000
	
	1
	
	600,000
	
	
	
	

	
	
	But Limited To
	  232,110
	
	0.08
	
	18,568.80

	
	
	
	
	
	
	
	
	
	
	

	
	
	Interest taken to Interest Expense
	
	29,431.20

	
	
	($600,000 X 8% = $48,000 

less interest capitalized of 18,568.80)
	
	


Balance in Land Account—2002 and 2003

150,000.00

Balance in Building—2002




  34,220.00*

Balance in Building—2003




712,788.80**

Balance in Interest Expense—2002


    2,780.00

Balance in Interest Expense—2003


  29,431.20

  *$30,000 + $3,000 + $1,220

**$34,220 + $240,000 + $360,000 + $60,000 + $18,568.80

*PROBLEM 11-6 (Continued)

(b) 
Balance in Land Account—2002 and 2003
150,000.00


Balance in Building—2002
  33,000.00*


Balance in Building—2003
693,000.00**


Balance in Interest Expense—2002
    4,000.00


Balance in Interest Expense—2003
  48,000.00


  *$30,000 + $3,000 


**$33,000 + $240,000 + $360,000 + $60,000

CASE 11-5
To:


Dee Pettigrew, President

From:
Good Student, Manager of Accounting

Date:

January 15, 2002

Subject:
Capitalization of avoidable interest on the warehouse




construction project

I am writing in response to your questions about the capitalized interest costs for the warehouse construction project. This brief explanation of my calculations should facilitate your understanding of these costs.

Generally, the accounting profession does not allow accrued interest to be capitalized along with an asset’s cost. However, an exception is made for interest costs incurred during construction. In order to qualify for this treatment, the constructed asset must require a period of time to become ready for its intended use.

Because interest capitalization is allowed in special circumstances only, the company must be especially careful to capitalize only that interest which is associated with the construction itself, i.e., the lower of actual or avoidable interest.

On the surface, this standard seems simple. Actual interest incurred during the construction period equals all interest which accrued on any debt outstanding during that period. Avoidable interest equals the amount of interest which would not have been incurred if the construction project had not been undertaken. The amount of interest capitalized is the smaller of the two.

CASE 11-5 (Continued)
To determine the amount capitalized, we must calculate both the actual and the avoidable interest during 2001. Actual interest is calculated by applying the interest rates of 12%, 10%, and 11% to their related debt. Thus, total actual interest for this period is $600,000 (see Schedule #1).

Calculations for avoidable interest are more complex. First, interest can be capitalized only on the weighted-average amount of accumulated expenditures. Although total costs amounted to $6,200,000 for the project, an average of only $4,000,000 was outstanding during the period of construction. 

Second, of the total $5,400,000 debt outstanding during this period, only $4,000,000 of it can be associated with the actual construction project. Whereas the entire construction loan of $2,000,000 relates to this project, only $2,000,000 of the remaining $3,400,000 debt can be tied to it. There-fore, rather than arbitrarily choose the interest rate for one of the other loans, we must calculate the weighted-average interest rate. This rate is the ratio of accrued interest on the other loans to the total amount of their principal. For the $2,000,000 balance of weighted-average accumulated expenditures, this interest rate equals 10.59% (see Schedule #2).

Third, we calculate our avoidable interest as follows: calculate the interest on the loan directly associated with the construction. Apply the weighted-average interest rate to the remainder of the weighted-average accumulated expenditure. Now, add these products. Avoidable interest for 2001 amounts to $451,800 (see Schedule #3).

So as not to overstate the interest associated with the construction, we capitalize the smaller of the two—$451,800—along with the other construction costs.

I hope that this explanation has answered any questions you may have had about capitalized interest. If any further questions should arise, please contact me.

CASE 11-5 (Continued)

	Schedule #1
	
	

	
	Actual Interest
	

	
	
	

	Construction loan
	$2,000,000 X 12% = 
	$240,000

	Short-term loan
	$1,400,000 X 10% = 
	140,000

	Long-term loan
	$2,000,000 X 11% =
	  220,000

	
	
Total
	$600,000


	Schedule #2
	
	
	

	Weighted-Average Interest Rate

	
	
	
	

	Weighted-average interest 

rate calculation
	Principal
	Interest

	
10% short-term loan
	
	$1,400,000
	$140,000

	
11% long-term loan
	
	  2,000,000
	  220,000

	
	
	$3,400,000
	$360,000


	Total Interest
	=
	$360,000
	= 10.59%

	Total Principal
	
	$3,400,000
	


	Schedule #3
	
	
	

	Avoidable Interest

	
	
	
	


	Weighted-Average Accumulated Expenditures
	X
	Interest 

Rate
	=
	Avoidable Interest

	$2,000,000
	
	     12%
	
	$240,000

	  2,000,000
	
	10.59%
	
	  211,800

	
	
	
	
	$451,800


	Schedule #4
	Interest Capitalized
	
	


Because avoidable interest is lower than actual interest, use avoidable interest.

	Cost
	$6,200,000

	Interest capitalized
	     451,800

	Total cost
	$6,651,800


